Domácí úkol – integrály 1
 Na maximálních možných  intervalech  najděte primitivní funkce  :
1.    
[image: image1.wmf]dx

x

x

8

4

3

2

+

+

ò

                                                   6.    
[image: image2.wmf](

)

dx

x

x

x

3

2

5

4

4

2

+

-

-

ò


2.     
[image: image3.wmf]ò

-

dx

x

x

ln

1

1

                                                     7.     
[image: image4.wmf]dx

x

x

x

5

4

5

2

+

-

+

ò


3.    
[image: image5.wmf]dx

e

x

x

×

ò

1

                                                            8.     
[image: image6.wmf]dx

x

x

x

x

ò

+

2

2

cos

3

sin

2

cos

sin


4.     
[image: image7.wmf]ò

+

dx

x

x

3

sin

cos

                                                     9.     
[image: image8.wmf](

)

dx

x

x

x

ò

+

4

ln

1

ln


5.    
[image: image9.wmf]dx

x

x

x

5

4

4

2

2

+

-

-

ò

                                                 10.      
[image: image10.wmf]dx

e

x

ò


_1456310999.unknown

_1456311293.unknown

_1456311407.unknown

_1456311027.unknown

_1456310202.unknown

_1456310718.unknown

_1456310843.unknown

_1456310569.unknown

_1290453610.unknown

_1384691254.unknown

